=

Fi=3
bi:=35
defh:=h(y)=h30*y"3+hll*mu*y+h50*y"5+hl2*y*mu~2+h31*mu*y~3;
defh = h(y)=h30y> +hi1l @y +h50y° +h12 yu> +h3l py’
-h(y)+mu*y-y*3-a*h(y) *y*2-diff (h(y),y) *b*h(y);

v

v

B d
~h()+uy-y" -3 h(y)y’ -5 [a—y h(y)] h(y)

[ > subs (defh, %) ;

~h30y’ —hll wy—h50y° —hI2y W —h31 py +py—y*
~3(h30y’ +h1l py+h50y° +hi2 yu* +h31 py’)y* -5
d 3
(a_y (h30y* +h1l wy+h50y° +hi2 y u’* +h31 ].LyJ)J

(h30y’ + h11 wy+h50y’ +hi2yp* +h31 py?)
> expansion:=collect (%, [yv,mu] ,distributed) ;

expansion := —25 h50* y* =40 h31 h50 y" w+ (=3 h50 — 40 h30 h50)y’
+(=30 h12 h50 — 15 h31%)y’ W* + (=30 hil h50 —3 h31 —30 h30 h31)y" p
+ (=3 h30 — 15 h30* = h50)y’ =20 h12 h31 y* |° + (=20 h11 h31 =20 h12 h30 -3 hi2)y* W2
+(=h31 =3 h11 =20 h1l h30)y* u+(=h30—1)y* =5 hi2* ypu* =10 kil h12 y W
+(-h12-5h11H) PP y+(=h1l + )y

> coeff (coeff (expansion,mu,l),v,1);

—hll +1
> defhll:=hll=solve(%,hll);
defhll :=hll =1
> coeff (coeff (expansion,mu,0),y,3);
—h30 -1

[ > defh30:=h30=solve(%,h30);

defh30 = h30 =-1

"> coeff (coeff (expansion,mu,1),y,3);

=h31 -3 h1l—20 hll h30

> defh31l:=h31=solve(subs([defhll,defh30],%),h31);

defh3l .= h3l =17

"> coeff (coeff (expansion,mu,2),y,1);

—hi2-5hll*
> defhl12:=h12=solve (subs ([defhl11],%),hl12);

defhl2:=hi2=-5
> coeff (coeff (expansion,mu,0),vy,5);

—3 h30 —15 h30* — h50

M> defh50:=h50=solve(subs([defh30], %) ,h50);



